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(2) Alin i i
€ passing through points P (4, a) and Q (3, 2) is perpendicular to the line 3y + x + 3 = 0. Find
the value of a and write down equation of line PQ.

(4 marks)
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(5)  Using the three quadratic identities only factorize and simplify: (4marks)
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(6.) Inaregular polygon, the exterior angle is /3 of its supplement. Find the number of sides of this
polygon. (3marks’
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(7) Find the area of a segment of a circle whose arc subtends an angle of 221/2 on the
circumference of a circle, radius 10cm. (3marks)
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(8)  Mr.Onyangos piece of land is in a form of triangle whose dimensions are 1200m, 1800m and

1500m respectively. Find the area of this land in ha.(give your answer to the nearest whole
number) (3marks)
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(9) Two men each working for 8hours a day can cultivate an acre of land in 4 days. How long
would 6men, each working 4hours a day take to cultivate 4 acres? (3marks)
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10.) From aviewing tower 30metres above the ground, the angle of depression of an object on the
(LG, d is 30° and the angle of elevation of an aircraft vertically above the object is 42°.Calculate
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the height of the aircraft above the ground. S : (3marks)
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Wing inequality ang show your solution on a number line. (3marks
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(12.) Usinga ruler, a
side division of line B
portions.

pair of compasses on|
C, aline BD such tha
(3marks) 2, ¢

y and (proportional) a set square, construct on the upper
ZDBC = 37.5¢, Use the line BD to divide BC into 4 equal
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(13). A Kenyan bank buys and sells foreign currency as shown below.

Buying Ksh Selling Ksh ‘]

1 US dollar ($) | 103.00 106.20
1 UK pound 145.00 149.95
(£)

rrived in Kenya with £9600 which he converted into
gtt:: :ss:da% of the money before changing the balance of dolla
to the nearest dollar, the amount he received.

Kshs at a commission of 5%, He
I's at no commission calculate;
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(14.) Amap is dray, , I
area of 60,000m> N to scale of 1:50,000. Fing the area in cm2 on the map of a field with an actua

(3marks).
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(15.) Two similar solids have surface areas of 48cm2 and 108cm? respectively. Find the volume of the
smaller solid if the bigger

one has a volume of 162cms3, § g (3marks).
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(16.) The diagram below represents a prism whose cross section is a right angled triangle. Draw a
labeled sketch of the net of the prism.

(3marks).




- Kagito, Bar-Sari and Ndori are such that Lihanda is 6km from Kagilo on a

Bar- . ~9auri is to the west of Kagilo and 20km away while Ndori is to the South of
ar-sauri on a bearing of 24° from Lihaﬁda &gioan m away

a) Usi .
) Using a scale of 1:400,000 draw a scale diagram showing the relative positions of the four

‘XOC G schools
- - i (5mark)
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b) Using your diagram determine the distance and bearing of Ndori from Kagilo. (2 marks)

Nik= 38 contleliilew = HODT i = Kw,

L K M

c) A mast is to be erected so that it is equidistant from Kagilo and Bar-sauri and 20km from
Ndori. On the same diagram show the position of the mast and find its distance from
Lihanda. (3marks)
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: diameters of
18.A COmmemoratjye Stone js Sculptured in a shape of a frustum of a cone Wltlhd:?':;nce between
the top anq bottom faces being 28cm and 49¢m respectively. If the vertica

the faces is 45cm, fing;

i) Find the cones vertical hejght, (2marks)
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(ii) Find the volume of the stone.

/ (3 marks)
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ii) Surface area of the stone., oav- -
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20. The
graph in figy
gure beloyy, represents the journey made by a matatu between two bus stops.
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a) What is the acceleration of the matatu? (2 marks)
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b) Calculate the deceleration of the matatu7 (2 marks)

Z23]

¢) What distance does the matatu cover while acceleratipg? jmarks)
w VXIS = s M »AVngx\)v‘ o)
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distance covered by matatu while decelerating (2marks)
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d) Calculate the
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(2 marks
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21. An .
. au of money was shared among five boys Ali, Juma, Musa, Khalid and Mustafa. Ali got

amount while Juma got 2/, of th inder. Th aining amount was
s 5 e remainder. The rem g
hared €qually dmong Musa, Khalid and Mustafa, each of which received Kshs 600.

Va) How much did jyma get? (3 marks)
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b) How much was shared among the five boys, (2 marks)
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c) Ali, Juma and Mustafa invested their money and earned a profit of Kshs 1200. A third of the
profit was left to maintain the business and the rest shared according to their investments,

Calculate how much each gog . (5 marks)
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22.In the dia
! 8ram
Intersectg atB a:(liogv ¢ S

a) FindthelengthAC L -
Ax"= 3o -4k Cx = 102 —H&
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b) Calculate

i) Angle BAD , (2 marks)
(A~ 2LRAX LRAD = 2 (42.27)
C e A X = 4%@ - {(.5&K a
A kK -
(RAX= Sin {q/w)‘/m\
= 473.2
ii) Angle BCD (2 marks)
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iii) The area of the shaded part.

(3 marks)



4] B bos and 2 matary 1ot voi for Mombasa 240km away st 3.00am they travelled at
took 30 minutes lo mend.it then continued with thee joumey.
Fpein ™ matatu catch up with the bus ( § 4L,
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b) At wht time did the matato catch up with t
= (&0 e+ 0T +20MT)
s £-S50ae 4 [fio [Cans
¢) At what time did the bus reach Mombasa? (2mks)




24. A particle P moves in a straight line such that t seconds after passing a fixed point Q. its velocity i
given by the equation 2t2 -10t + 12 find:

a) The values of t when p is instantaneously at rest. (2 marks)
V= AEt-1oe +\2 p

2_ ot ’*'i’:\jﬁ;(

/tq,"gt + 6= O /
t= e t=27f)




\¢ 3 Ce€ moved by P after t seconds. (2 marks)
.- = 27— 1t & \2 ™
}* ) ¢ i y{j e T "C_‘

c) The total dlstance travel

tnarks) ed by P in the first 3 seconds after passing point O. (3

j )(, —ibt 4 ild € / A
. , " (\ V\/\V {
:Q/Q{ — S -r'lt\/ ‘
=3, (2) - s(H 1E m,

18- 4¥s+ 2

d) The maximum velocity attained by the body. =iv - _ (3 marks)
=, GV Ut —r10o e
SN R
( \/1/\/\ J

e —1o = o
S= 2.6
g = .A“:-i-/ T
Ve 202 €10 X2 5412 = —OS% ¢ aq

(be On the graph paper provided plot the points P(2, 2) Q(2,5) and R(4,4)
)

Join them to form a triangle PQR (1mk)

b) Reflect the triangle PQR in the line x=0 and label the image s P1Q!R!, (2mks)

. 2
c) Triangle PQR is given translation by vector T ( 2) to P11QURI plot the triangle P11Q11R11,
(3mks)

d) Rotate triangle P11Q!!R'! about the origin through -900.state the coordinates of
P111Q111R111, (3mks)

e) Identify two pairs of triangle that are direct congruence (1mk)
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